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Conjecture
We have:  p(Mp) = (=1)""(n - 1)L
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A simplicial complex is a finite nonempty family A of finite sets
called faces such that

FeA and FFCF = F eA.

A geometric realization of A has a (d — 1)-dimensional simplex
(tetrahedron) for each d-element setin A. The dimension of

F e AisdimF =#F — 1. Face F is a vertex or edge if

dimF = 0 or 1, respectively.

Example.

Face F is a facet if it is containment-maximal in A. We say A

is pure of dimension d, and write dm A =d, ifdimF = d for all
facets F of A.

Note. A simplicial complex pure of dimension 1 is just a graph.
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is not a shelling since xy N (uw Uvw) = (.
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In general
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Also taking wedges takes direct sums of homology groups.
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k . .
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subposet C : X =Xg < X1 < ... <X =Y. If P is bounded, let
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12 23
Bs = 2 ”4 2
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so0¢(1<13<1123)=(3,2).
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